= DynaSpace ™"

4ft Football Table
Wood Finish

Read all precautions and instructions in
this manual before using this equipment.

Keep this manual
for future reference.

Note: The product photo is for reference
only and may differ slightly from the
actual product.

Model: SGC2375



Parts list

g ° e

2x Support Rod

S| ™

1x Soccer Playfield 2x Long side element | 2x Short side element | 24x 6x30mm Bolt 24x Washer Screw

8 9 10 11 12

I

26x

2x Cup Holder 2x Support Brace 2x Left Leg 2x Right Leg 4x Leg Leveler 3.5x18 mm Round Head Screw
13 14 15 16 17 18
11x Player (Red) 11x Player (Yellow) 2x Soccer Ball 2x 2 Player Rod 4x 3 Player Rod 2x 5 Player Rod
19 20 21 22 23 24

4x Stop Ring 16x Rubber Bumper 8x Hand Grip 8x End Cap 2x Chrome Bar 2x Scorers
25 26 27 28

o & v

4x 3.5x28 mm Screw | 8x 3.5x12 mm Screw “x Support rod Nut 1x Support Tool




Attach the support
Push the upturned playing field (No. 1) beams under the

with the side walls (No. 2) and (No. 3) playing field.
together and then fasten them.

& Attach the support legs, crossbars, and feet. \\/



Push the players onto the
bar, and don't forget to

attach a stop ring (No. 19)

~» and a rubber bumper

Attach the handle to one
side and the cap to the

other.

Attach the two goal counters and cup

holders as shown.



